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QUESTION 1

A dual-band AP most likely supports what two frequency bands? 

A. Sub-1 GHz and 2.4 GHz 

B. 2.4 GHz and 60 GHz 

C. 5 GHz and 60 GHz 

D. 2.4 GHz and 5 GHz 

Correct Answer: D 

 

QUESTION 2

What tool is provided in most operating systems and in many APs or WLAN routers that can verify proper 

IP operations? 

Select one: 

A. IFCONFIG 

B. PING 

C. IWCONFIG 

D. NETSH 

Correct Answer: B 

 

QUESTION 3

What antenna would be best for a long distance (more than 5 kilometers) bridge link? Select one: 

A. Panel 

B. Parabolic dish 

C. Patch 

D. Omnidirectional 

Correct Answer: B 

 

QUESTION 4

You are using 802.1X/EAP for enterprise authentication for your WLAN. Where must the RADIUS server\\'s IP address
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be configured to enable this for the WLAN? 

A. Wireless desktops 

B. Subnet router 

C. Wireless laptops 

D. AP 

Correct Answer: D 

 

QUESTION 5

What EAP method is supported on most operating systems without additional installation requirements? 

A. EAP-GTC 

B. EAP-FAST 

C. EAP-TLS 

D. LEAP 

Correct Answer: B 

 

QUESTION 6

You have recently changed the passphrase used with WPA2 in several APs and have reconfigured clients for the new
passphrase. Now, a few clients are unable to connect to those APs. Most clients can connect to them just fine. What is
the likely problem? 

A. The APs have the wrong new passphrase 

B. The working clients have the wrong passphrase 

C. The problem clients are not 802.11-capable 

D. The problem clients have the wrong passphrase 

Correct Answer: D 

 

QUESTION 7

What device type is configured to respond when a probe request is received in a BSS? 

A. Desktop 

B. Switch 

C. Laptop 
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D. AP 

Correct Answer: D 

 

QUESTION 8

What is the maximum power that an 802.3at Power over Ethernet (PoE) injector can output in the Ethernet interface? 

A. 30 W 

B. 15.4 W 

C. 12.95 W 

D. 25.5 W 

Correct Answer: D 

 

QUESTION 9

You use 802.1X/EAP for all WLAN authentication in your network. You have several VoIP handsets that work well until
they have to roam from one AP to another. When they roam, calls are often dropped or call quality is significantly
diminished. What is the most likely cause of this problem? 

A. Wrong passphrase entered on the VoIP handsets 

B. Non-implemented roaming features on the APs 

C. Wrong SSID used by the VoIP handsets 

D. Wrong certificate installed on the VoIP handsets 

Correct Answer: B 

 

QUESTION 10

You have enabled 802.11 standard Fast BSS Transition on your WLAN. Opportunistic Key Caching was previously
used. Now several VoIP handsets are dropping calls during roaming. What is the best solution? 

A. Install more APs 

B. Re-enable OKC 

C. Disable all roaming solutions 

D. Use WPA2-Personal instead 

Correct Answer: B 
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